NA						
LakeCounty Division of Transportation						
	Su	mmary of Bids Rece	eived			
Project	: Robert McClory Bike Trail Re	•				
Section						
Description	: Restoration of 600 feet of the	McClory Bike Trail				
	: B-01623B					
Let Date	: 6/15/2021					
					% Over/Under	\$ Over/Under
<b>Bidder</b> Chicagoland Paving Contractors, Inc	Address 225 Telser Road	City, State, Zip Lake Zurich, IL 60047	<b>Bond</b> Bid Bond	Bid Price \$100,000.00	Eng. Estimate -43.02%	Eng. Estimate -\$75,494.0
Maneval Construction Co Inc	28090 West Concrete Drive	Ingleside, IL 60041	Bid Bond	\$110,020.95		-\$65,473.0
Landmark Contractors, Inc	11916 W. Main Street	Huntley, IL 60142	Bid Bond	\$132,727.30		-\$42,766.70
Schroeder Asphalt Service, Inc	P.O. Box 831	Huntley, IL 60142	Bid Bond	\$152,556.80	-13.07%	-\$22,937.20
Engineer's Estimate				\$175,494.00		
Design	IDOT(2)	Contract Bidder	C	County Engineer		
	•					
Finance	Bid Tab File	Resident Eng.		/Igr Capital Progra	mming	
Construction	Project File	Request By Mail				



## **Return Bid Tabulation**

Project: Robert McClory Bike Trail Restoration

Section: 20-00173-18-BT

**Description:** Restoration of 600 feet of the McClory Bike Trail

**CPMS Pin:** B-01623B **Let Date:** 6/15/2021

Item No.	Pay Code	Code Description		Unit	Eng Estimate Chicagoland Paving Contractors, Inc.		Landmark Contractors, Inc.		Maneval Construction Co Inc.		Schroeder Asphalt Service, Inc.			
NO.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	1 20200100 EARTH EXCAVATION		12.0	CU YD	\$50.00	\$600.00	\$50.00	\$600.00	\$112.20	\$1,346.40	\$52.00	\$624.00	\$110.00	\$1,320.00
2	20400800	FURNISHED EXCAVATION	142.0	CU YD	\$100.00	\$14,200.00	\$35.00	\$4,970.00	\$55.35	\$7,859.70	\$33.00	\$4,686.00	\$65.00	\$9,230.00
3	21301052	EXPLORATION TRENCH 52" DEPTH	50.0	FOOT	\$100.00	\$5,000.00	\$25.00	\$1,250.00	\$48.20	\$2,410.00	\$11.00	\$550.00	\$52.50	\$2,625.00
4	25200200	SUPPLEMENTAL WATERING	5.0	UNIT	\$200.00	\$1,000.00	\$0.01	\$0.05	\$0.10	\$0.50	\$100.00	\$500.00	\$42.00	\$210.00
5	28000305	TEMPORARY DITCH CHECKS	28.0	FOOT	\$5.00	\$140.00	\$10.00	\$280.00	\$15.00	\$420.00	\$125.00	\$3,500.00	\$22.00	\$616.00
6	28000400	PERIMETER EROSION BARRIER	583.0	FOOT	\$3.00	\$1,749.00	\$3.00	\$1,749.00	\$3.50	\$2,040.50	\$3.00	\$1,749.00	\$4.60	\$2,681.80
7	28000510 INLET FILTERS		1.0	EACH	\$300.00	\$300.00	\$150.00	\$150.00	\$176.80	\$176.80	\$110.00	\$110.00	\$330.00	\$330.00
8	40200800 AGGREGATE SURFACE COURSE, TYPE B		287.0	TON	\$40.00	\$11,480.00	\$25.00	\$7,175.00	\$53.55	\$15,368.85	\$33.00	\$9,471.00	\$38.85	\$11,149.95
9	44000100	PAVEMENT REMOVAL	4,923.0	SQ YD	\$15.00	\$73,845.00	\$6.50	\$31,999.50	\$8.70	\$42,830.10	\$4.65	\$22,891.95	\$6.45	\$31,753.35
10	60100905	PIPE DRAINS 4"	50.0	FOOT	\$35.00	\$1,750.00	\$15.00	\$750.00	\$55.00	\$2,750.00	\$32.50	\$1,625.00	\$99.75	\$4,987.50
11	60100915	PIPE DRAINS 6"	50.0	FOOT	\$45.00	\$2,250.00	\$25.00	\$1,250.00	\$55.00	\$2,750.00	\$37.00	\$1,850.00	\$103.95	\$5,197.50
12		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	7,340.0	UNIT	\$1.00	\$7,340.00	\$1.00	\$7,340.00	\$1.00	\$7,340.00	\$1.00	\$7,340.00	\$1.00	\$7,340.00
13	X0326805	FOUNDATION REMOVAL	583.0	SQ FT	\$20.00	\$11,660.00	\$5.00	\$2,915.00	\$14.15	\$8,249.45	\$18.00	\$10,494.00	\$9.90	\$5,771.70
14		TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$5,000.00	\$5,000.00	\$6,601.40	\$6,601.40	\$9,400.00	\$9,400.00	\$1,740.00	\$1,740.00	\$3,622.50	\$3,622.50
15	XX006343	SEEDING (COMPLETE)	4,710.0	SQ YD	\$8.00	\$37,680.00	\$7.00	\$32,970.00	\$6.00	\$28,260.00	\$9.00	\$42,390.00	\$13.90	\$65,469.00
16	Z0019600	DUST CONTROL WATERING	5.00	UNIT	\$300.00	\$1,500.00	\$0.01	\$0.05	\$305.00	\$1,525.00	\$100.00	\$500.00	\$50.50	\$252.50
	Bid Total					\$175,494.00		\$100,000.00		\$132,727.30		\$110,020.95		\$152,556.80



## **Return Bid Details**

**Project:** Robert McClory Bike Trail Restoration

**Section:** 20-00173-18-BT

Description: Restoration of 600 feet of the McClory Bike Trail

**CPMS Pin:** B-01623B **Let Date:** 6/15/2021

Item	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid	
No.	Pay Code	Description	Qualitity	Oill	Unit Price	Extnd. Price	Price	Price	Price	
1	20200100	EARTH EXCAVATION	12.0	CU YD	\$50.00	\$600.00	\$50.00	\$112.20	\$81.05	
2	20400800	FURNISHED EXCAVATION	142.0	CU YD	\$100.00	\$14,200.00	\$33.00	\$65.00	\$47.09	
3	21301052	EXPLORATION TRENCH 52" DEPTH	50.0	FOOT	\$100.00	\$5,000.00	\$11.00	\$52.50	\$34.18	
4	25200200	SUPPLEMENTAL WATERING	5.0	UNIT	\$200.00	\$1,000.00	\$0.01	\$100.00	\$35.53	
5	28000305	TEMPORARY DITCH CHECKS	28.0	FOOT	\$5.00	\$140.00	\$10.00	\$125.00	\$43.00	
6	28000400	PERIMETER EROSION BARRIER	583.0	FOOT	\$3.00	\$1,749.00	\$3.00	\$4.60	\$3.53	
7	28000510	INLET FILTERS	1.0	EACH	\$300.00	\$300.00	\$110.00	\$330.00	\$191.70	
8	40200800	AGGREGATE SURFACE COURSE, TYPE B	287.0	TON	\$40.00	\$11,480.00	\$25.00	\$53.55	\$37.60	
9	44000100	PAVEMENT REMOVAL	4,923.0	SQ YD	\$15.00	\$73,845.00	\$4.65	\$8.70	\$6.58	
10	60100905	PIPE DRAINS 4"	50.0	FOOT	\$35.00	\$1,750.00	\$15.00	\$99.75	\$50.56	
11	60100915	PIPE DRAINS 6"	50.0	FOOT	\$45.00	\$2,250.00	\$25.00	\$103.95	\$55.24	
12	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	7,340.0	UNIT	\$1.00	\$7,340.00	\$1.00	\$1.00	\$1.00	
13	X0326805	FOUNDATION REMOVAL	583.0	SQ FT	\$20.00	\$11,660.00	\$5.00	\$18.00	\$11.76	
14	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$5,000.00	\$5,000.00	\$1,740.00	\$9,400.00	\$5,340.98	



## **Return Bid Details**

**Project:** Robert McClory Bike Trail Restoration

**Section:** 20-00173-18-BT

Description: Restoration of 600 feet of the McClory Bike Trail

**CPMS Pin:** B-01623B **Let Date:** 6/15/2021

Item	Pay Code	Description	0	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid
No.		Description		luantity	Oille	Unit Price	Extnd. Price	Price	Price	Price
15	XX006343	SEEDING (COMPLETE)		4,710.0	SQ YD	\$8.00	\$37,680.00	\$6.00	\$13.90	\$8.98
16	Z0019600	DUST CONTROL WATERING		5	UNIT	\$300.00	\$1,500.00	\$0.01	\$305.00	\$113.88
			Bid Total				\$175,494.00			